

Available at www.ComputerScienceWeb.com

Information Processing Letters 86 (2003) 185-190

Information Processing Letters

www.elsevier.com/locate/ipl

Generalized honeycomb torus [☆]

Hsun-Jung Cho*, Li-Yen Hsu

Department of Transportation Technology and Management, National Chiao Tung University, Hsinchu 30050, Taiwan, R.O.C.

Received 23 July 2001; received in revised form 10 July 2002

Communicated by F.Y.L. Chin

Abstract

Stojmenovic introduced three different honeycomb tori by adding wraparound edges on honeycomb meshes, namely honeycomb rectangular torus, honeycomb rhombic torus, and honeycomb hexagonal torus. These honeycomb tori have been recognized as an attractive alternative to existing torus interconnection networks in parallel and distributed applications. In this paper, we propose generalized honeycomb tori. The three different honeycomb tori proposed by Stojmenovic are proved to be special cases of our proposed generalized honeycomb tori. We also discuss the Hamiltonian property of some generalized honeycomb tori.

© 2003 Published by Elsevier Science B.V.

Keywords: Honeycomb torus; Hamiltonian cycle; Interconnection networks

1. Introduction

Network topology is a crucial factor for interconnection network as it determines the performance of the network. Many interconnection network topologies have been proposed before for the purpose of connecting a large number of processing elements. Network topology is always represented by a graph, where nodes represent processors and edges represent links between processors. One of the most popular architectures is the mesh connected computers [4]. Each processor is placed in a square or a rectangular grid

Corresponding author. E-mail address: hjcho@cc.nctu.edu.tw (H.-J. Cho). and is connected by a communication link to its neighbors in up to four directions.

It is well known that there are three possible tessellations of a plane with regular polygons of the same kind: square, triangular, and hexagonal, corresponding to dividing a plane into regular squares, triangles, and hexagons, respectively. Based on this observation, some computer and communication networks have been built. The square tessellation is the basis for mesh-connected computers. The triangle tessellation is the basis to define hexagonal mesh multiprocessors, studied in [3,9]. The hexagonal tessellation is the basis to define the honeycomb meshes, studied in [2,8].

Tori are meshes with wraparound connections to achieve node and edge symmetry. Meshes and tori are among the most frequent multiprocessor networks available on the market. Stojmenovic [8] introduced three different honeycomb tori by adding wraparound

^{*} This research was partially supported by the Ministry of Education, R.O.C. under Grant Ex-91-E-FA06-4-4 and National Science Council, R.O.C. under Grant NSC 89-2211-E-009-075.

^{0020-0190/03/\$ –} see front matter @ 2003 Published by Elsevier Science B.V. doi:10.1016/S0020-0190(02)00507-0

edges on honeycomb meshes, namely honeycomb rectangular torus, honeycomb rhombic torus, and honeycomb hexagonal torus. Recently, these honeycomb tori have been recognized as an attractive alternative to existing torus interconnection networks in parallel and distributed applications [5–8].

In this paper, we propose a generalized honeycomb torus. We will prove that all the honeycomb tori mentioned above are special cases of the generalized honeycomb torus. In the following section, we give some graph terms that are used in this paper and the formal definition of various honeycomb tori. Then we present our generalized honeycomb torus. In Section 3, we prove that our generalized honeycomb tori cover all honeycomb tori mentioned above. The Hamiltonian property of some generalized tori are discussed in Section 4. Finally, we give a discussion in the final section.

2. Definitions

For the graph definition and notation we follow [1]. G = (V, E) is a graph if V is a finite set and E is a subset of $\{(a, b) \mid (a, b) \text{ is an unordered pair}$ of V. We say that V is the *node set* and E is the edge set of G. Two nodes a and b are adjacent if $(a, b) \in E$. A path is a sequence of nodes such that two consecutive nodes are adjacent. A path Pis delimited by $\langle x_0, x_1, x_2, \dots, x_{n-1} \rangle$. We use P^{-1} to denote the path $\langle x_{n-1}, \ldots, x_2, x_1, x_0 \rangle$ if *P* is the path $\langle x_0, x_1, x_2, \dots, x_{n-1} \rangle$. A path is called a *Hamiltonian* path if its nodes are distinct and span V. A cycle is a path of at least three nodes such that the first node is the same as the last node. A cycle is called a Hamiltonian cycle if its nodes are distinct except for the first node and the last node and if they span V. Graph G_1 is *isomorphic* to graph G_2 if there exists a one-to-one mapping ϕ , called an *isomorphism*, from $V(G_1)$ onto $V(G_2)$ such that ϕ preserves adjacency and nonadjacency.

We use the brick drawing, proposed in [7,8], to define the honeycomb rectangular torus. Assume that *m* and *n* are positive even integers. The *honeycomb rectangular torus* HReT(m, n) is the graph with the node set $\{(i, j) \mid 0 \le i < m, 0 \le j < n\}$ such that (i, j) and (k, l) are adjacent if they satisfy one of the following conditions:

(1) *i* = *k* and *j* = *l* ± 1 (mod *n*); and
(2) *j* = *l* and *k* = *i* - 1 (mod *m*) if *i* + *j* is even.

Assume that *m* and *n* are positive integers where *n* is even. The *honeycomb rhombic torus* HRoT(*m*, *n*) is the graph with the node set $\{(i, j) \mid 0 \le i < m, 0 \le j - i < n\}$ such that (i, j) and (k, l) are adjacent if they satisfy one of the following conditions:

(1) *i* = *k* and *j* = *l* ± 1 (mod *n*);
(2) *j* = *l* and *k* = *i* - 1 if *i* + *j* is even; and
(3) *i* = 0, *k* = *m* - 1, and *l* = *j* + *m* if *j* is even.

Assume that *n* is a positive integer. The *honeycomb hexagonal mesh* HM(*n*) is the graph with the node set $\{(x_1, x_2, x_3) \mid -n + 1 \leq x_1, x_2, x_3 \leq n \text{ and } 1 \leq x_1 + x_2 + x_3 \leq 2\}$. Two nodes (x_1^1, x_2^1, x_3^1) and (x_1^2, x_2^2, x_3^2) are adjacent if and only $|x_1^1 - x_1^2| + |x_2^1 - x_2^2| + |x_3^1 - x_3^2| = 1$. The *honeycomb hexagonal torus* HT(*n*) is the graph with the same node set as HM(*n*). The edge set is the union of E(HM(n)) and the wraparound edge set

$$\{ ((i, n - i + 1, 1 - n), (i - n, 1 - i, n)) \mid 1 \leq i \leq n \}$$

$$\cup \{ ((1 - n, i, n - i + 1), (n, i - n, 1 - i)) \mid$$

$$1 \leq i \leq n \}$$

$$\cup \{ ((i, 1 - n, n - i + 1), (i - n, n, 1 - i)) \mid$$

$$1 \leq i \leq n \}$$

Assume that *m* and *n* are positive integers where *n* is even. Let *d* be any integer such that (m - d) is an even number. The *generalized honeycomb rectangular torus* GHT(m, n, d) is the graph with the node set $\{(i, j) \mid 0 \le i < m, 0 \le j < n\}$ such that (i, j) and (k, l) are adjacent if they satisfy one of the following conditions:

- (1) $i = k \text{ and } j = l \pm 1 \pmod{n}$;
- (2) j = l and k = i 1 if i + j is even; and
- (3) i = 0, k = m 1, and $l = j + d \pmod{n}$ if j is even.

See Fig. 1 for various honeycomb tori. Obviously, any GHT(m, n, d) is a 3-regular bipartite graph. We can label those nodes (i, j) white when i + j is even or black if otherwise.



Fig. 1. (a) HReT(6, 6), (b) HRoT(4, 6), (c) HT(3), and (d) GHT(3, 18, 9).

3. Isomorphisms

By definition, we can easily prove that the honeycomb rectangular torus HReT(m, n) is isomorphic to GHT(m, n, 0) and the honeycomb rhombic torus HRoT(m, n) is isomorphic to $GHT(m, n, m \pmod{n})$. With the following theorem, the honeycomb hexagonal torus HT(n) is isomorphic to GHT(n, 6n, 3n).

Theorem 1. HT(n) is isomorphic to GHT(n, 6n, 3n).

Proof. Let *h* be the function from the node set of HT(*n*) into the node set of GHT(*n*, 6*n*, 3*n*) by setting $h(x_1, x_2, x_3) = (x_3, x_1 - x_2 + 2n)$ if $0 \le x_3 < n$, $h(x_1, x_2, x_3) = (0, x_1 - x_2 + 5n \pmod{6n})$ if $x_3 = n$, and $h(x_1, x_2, x_3) = (x_3 + n, x_1 - x_2 + 5n \pmod{6n})$ if otherwise.

For any $1 - n \le c \le n$, we use X_c to denote the set of those nodes (x_1, x_2, x_3) in HT(*n*) with $x_3 = c$. We use Y_c to denote the set of nodes (i, j) in GHT(*n*, 6*n*, 3*n*) where

- (1) i = c + n and $j \in \{k \mid 4n c 3 < k < 6n\} \cup \{k \mid 0 \le k < n + c\}$ if c < 0,
- (2) i = 0 and $j \in \{1 \le j < 4n\}$ if c = 0,
- (3) i = c and $\{j \mid c \leq j \leq 4n c\}$ if 0 < c < n, and
- (4) i = 0 and $j \in \{k \mid 4n \le k < 6n\} \cup \{0\}$ if c = n.

Let h_c denote the function of h induced by X_c . It is easy to check that h_c is a one-to-one function from X_c onto Y_c . Thus, h is one-to-one and onto.

To prove *h* is an isomorphism, we need to check that *h* preserves the adjacency. Suppose that $e = ((x_1, x_2, x_3), (x'_1, x'_2, x'_3))$ be an edge of HT(*n*). Without loss of generality, we assume that $x_1 + x_2 + x_3 = 2$ and $x'_1 + x'_2 + x'_3 = 1$.

Suppose that *e* is an edge of HM(*n*). Then either $x_3 = x'_3$ or $x_3 - x'_3 = \pm 1$.

Case 1: $x_3 = x'_3$. Obviously, either $(x'_1, x'_2, x'_3) = (x_1 - 1, x_2, x_3)$ or $(x'_1, x'_2, x'_3) = (x_1, x_2 - 1, x_3)$ holds.

Suppose that $0 \le x_3 < n$. Then $h(x_1, x_2, x_3) = (x_3, x_1 - x_2 + 2n)$. Moreover, $h(x'_1, x'_2, x'_3) = (x_3, x_1 - x_2 - 1 + 2n)$ if $(x'_1, x'_2, x'_3) = (x_1 - 1, x_2, x_3)$ and $h(x'_1, x'_2, x'_3) = (x_3, x_1 - x_2 + 1 + 2n)$ if $(x'_1, x'_2, x'_3) = (x_1, x_2 - 1, x_3)$. Suppose that $x_3 = n$. Then $h(x_1, x_2, x_3) = (x_1, x_2 - 1, x_3)$. Suppose that $x_3 = n$. Then $h(x_1, x_2, x_3) = (x_3, x_1 - x_2 + 1 + 2n)$ if $(x'_1, x'_2, x'_3) = (x_3, x_1 - x_2 - 1 + 5n \pmod{6n})$. Moreover, $h(x'_1, x'_2, x'_3) = (x_3, x_1 - x_2 - 1 + 5n \pmod{6n})$ if $(x'_1, x'_2, x'_3) = (x_3, x_1 - x_2 - 1 + 5n \pmod{6n})$ if $(x'_1, x'_2, x'_3) = (x_3, x_1 - x_2 + 1 + 5n \pmod{6n})$ if $(x'_1, x'_2, x'_3) = (x_1, x_2 - 1, x_3)$. Suppose that $x_3 < 0$. Then $h(x_1, x_2, x_3) = (x_3 + n, x_1 - x_2 + 5n \pmod{6n})$. Moreover, $h(x'_1, x'_2, x'_3) = (x_3, x_1 - x_2 - 1 + 5n \pmod{6n})$ if $(x'_1, x'_2, x'_3) = (x_3, x_1 - x_2 - 1 + 5n \pmod{6n})$ if $(x'_1, x'_2, x'_3) = (x_3, x_1 - x_2 - 1 + 5n \pmod{6n})$. Hence, $h(x_1, x_2, x_3)$ and $h(x'_1, x'_2, x'_3) = (x_1, x_2 - 1, x_3)$. Hence, $h(x_1, x_2, x_3)$ and $h(x'_1, x'_2, x'_3)$ are adjacent.

Case 2: $x_3 - x'_3 = \pm 1$. Since $x_1 + x_2 + x_3 = 2$ and $x'_1 + x'_2 + x'_3 = 1$, $(x'_1, x'_2, x'_3) = (x_1, x_2, x_3 - 1)$.

Suppose that $1 \le x_3 < n$. Then $h(x_1, x_2, x_3) = (x_3, x_1 - x_2 + 2n)$ and $h(x'_1, x'_2, x'_3) = (x_3 - 1, x_1 - x_2 + 2n)$. Suppose that $x_3 = 0$. Then $h(x_1, x_2, x_3) = (0, x_1 - x_2 + 2n)$ and $h(x'_1, x'_2, x'_3) = (n - 1, x_1 - x_2 + 5n \pmod{6n})$. Suppose that $x_3 = n$. Then $h(x_1, x_2, x_3) = (0, x_1 - x_2 + 5n \pmod{6n})$ and $h(x'_1, x'_2, x'_3) = (n - 1, x_1 - x_2 + 5n \pmod{6n})$ and $h(x'_1, x'_2, x'_3) = (n - 1, x_1 - x_2 + 2n)$. Suppose that $2 - n \le x_3 \le -1$. Then $h(x_1, x_2, x_3) = (x_3 + n, x_1 - x_2 + 5n \pmod{6n})$ and $h(x'_1, x'_2, x'_3) = (x_3 + n - 1, x_1 - x_2 + 5n \pmod{6n})$. Hence, $h(x_1, x_2, x_3)$ and $h(x'_1, x'_2, x'_3)$ are adjacent.

Suppose that e is an wraparound edge of HM(n). Then, we have the following three cases.

Case 3: $e \in \{((i, n-i+1, 1-n), (i-n, 1-i, n)) | 1 \le i \le n\}$. Then $(x_1, x_2, x_3) = (i, n-i+1, 1-n)$ and $(x'_1, x'_2, x'_3) = (i-n, 1-i, n)$. Obviously, $h(x_1, x_2, x_3)$ is (1, 4n + 2i - 1) and $h(x'_1, x'_2, x'_3)$ is (0, 4n + 2i - 1). Hence, $h(x_1, x_2, x_3)$ and $h(x'_1, x'_2, x'_3)$ are adjacent.

Case 4: $e \in \{((1 - n, i, n - i + 1), (n, i - n, 1 - i)) | 1 \leq i \leq n\}$. Hence $(x_1, x_2, x_3) = (1 - n, i, n - i + 1)$ and $(x'_1, x'_2, x'_3) = (n, i - n, 1 - i)$. Obviously, $h(x_1, x_2, x_3)$ is (0, 4n) if i = 1 and (n - i + 1, n - i + 1) if $1 < i \leq n$. Similarly, $h(x'_1, x'_2, x'_3)$ is (0, 4n - 1) if i = 1 and (n - i + 1, n - i) if $1 < i \leq n$. Thus, $h(x_1, x_2, x_3)$ and $h(x'_1, x'_2, x'_3)$ are adjacent.

Case 5: $e \in \{((i, 1 - n, n - i + 1), (i - n, n, 1 - i)) | 1 \le i \le n\}$. Thus $(x_1, x_2, x_3) = (i, 1 - n, n - i + 1)$ and $(x'_1, x'_2, x'_3) = (i - n, n, 1 - i)$. Obviously, $h(x_1, x_2, x_3)$ is (0, 0) if i = 1 and (n - i + 1, 3n + i - 1) if $1 < i \le n$. Similarly, $h(x'_1, x'_2, x'_3)$ is (0, 1) if i = 1 and (n - i + 1, 3n + i - 1) if $1 < i \le n$. Again, $h(x_1, x_2, x_3)$ and $h(x'_1, x'_2, x'_3)$ are adjacent.

Thus, the theorem is proved. \Box

For example, the honeycomb torus shown in Fig. 1(c) is actually isomorphic to the generalized honeycomb torus shown in Fig. 1(d).

4. Hamiltonian properties of some generalized honeycomb tori

It is easy to prove that any honeycomb rectangular torus and any honeycomb rhombic torus are Hamiltonian. In [5], it is proved that any honeycomb hexagonal torus is Hamiltonian. We reprove this result with the following theorem.

Theorem 2. Any generalized honeycomb torus GHT(m, 2k, k) is Hamiltonian.

Proof. In GHT(m, 2k, k), let P(i, j, s) denote the path $\langle (i, j), (i, j + 1 \pmod{2k}), (i, j + 2 \pmod{2k}), \dots, (i, s) \rangle$ and Q(i, s, j) denote the path $P^{-1}(i, j, s)$.

Assume that *m* is even. By the definition of GHT(m, 2k, k), *k* is even. Thus k = 2r for some positive integer *r*.

Let *R* denote the path from (0, 0) to (m - 1, 0) defined by:

$$\begin{array}{l} \langle (0,0) \xrightarrow{P(0,0,2r-1)} (0,2r-1), \\ (1,2r-1) \xrightarrow{Q(1,2r-1,0)} (1,0), \dots, \\ (m-3,2r-1) \xrightarrow{Q(m-3,2r-1,0)} (m-3,0), \\ (m-2,0) \xrightarrow{P(m-2,0,2r-1)} (m-2,2r-1), \\ (m-1,2r-1) \xrightarrow{Q(m-1,2r-1,0)} (m-1,0) \rangle. \end{array}$$

Let *S* denote the path from (0, 2r) to (m - 1, 2r)defined by:

$$\begin{split} &\langle (0,2r) \xrightarrow{P(0,2r,4r-1)} (0,4r-1), \\ &(1,4r-1) \xrightarrow{Q(1,4r-1,2r)} (1,2r), \dots, \\ &(m-3,4r-1) \xrightarrow{Q(m-3,4r-1,2r)} (m-3,2r), \\ &(m-2,2r) \xrightarrow{P(m-2,2r,4r-1)} (m-2,4r-1), \\ &(m-1,4r-1) \xrightarrow{Q(m-1,4r-1,2r)} (m-1,2r) \rangle. \end{split}$$

Obviously, $\langle (0,0) \xrightarrow{R} (m-1,0), (0,2r) \xrightarrow{S} (m-1,$ 2r, (0,0) forms a Hamiltonian cycle for GHT(m,2k, k). See Fig. 2(a) for illustration.

Assume that *m* is odd. By the definition of GHT(m, m)2k, k), k is odd. Suppose that m = 1. Obviously, $\langle (0,0) \xrightarrow{P(0,0,2k-1)} (0,2k-1), (0,0) \rangle$ forms a Hamiltonian cycle for GHT(m, 2k, k). Thus, we assume that m > 1 and k = 2r + 1 for some nonnegative integer r. Let X denote the path from (m - 1, 2r + 1) to (1, 2r + 1) defined by:

$$\langle (m-1, 2r+1) \xrightarrow{Q(m-1, 2r+1, 0)} (m-1, 0), (m-2, 0) \xrightarrow{P(m-2, 0, 2r+1)} (m-2, 2r+1), \dots, (3, 0) \xrightarrow{Q(3, 0, 2r+1)} (3, 2r+1), (2, 2r+1) \xrightarrow{Q(2, 2r+1, 0)} (2, 0), (1, 0) \xrightarrow{P(1, 0, 2r+1)} (1, 2r+1) \rangle.$$

Let Y denote the path from (0, 2r + 2) to (m - 1,4r + 1) defined by:

$$\begin{split} & \langle (0,2r+2) \xrightarrow{P(0,2r+2,4r+1)} (0,4r+1), \\ & (1,4r+1) \xrightarrow{Q(1,4r+1,2r+2)} (1,2r+2), \dots, \\ & (m-3,2r+2) \xrightarrow{P(m-3,2r+2,4r+1)} (m-3,4r+1), \\ & (m-2,4r+1) \xrightarrow{Q(m-2,4r+1,2r+2)} (m-2,2r+2), \\ & (m-1,2r+2) \xrightarrow{P(m-1,2r+2,4r+1)} (m-1,4r+1) \rangle. \end{split}$$

(1,4r+1) (m-3,4r+1)



Fig. 2. Illustrations for Theorem 2.

(m-1,4r+1)

(m-2,4r-

Obviously,

$$((0,0), (m-1, 2r+1) \xrightarrow{X} (1, 2r+1), (0, 2r+1), (0, 2r+1),$$

 $(0, 2r+2) \xrightarrow{Y} (m-1, 4r+1), (0, 2r) \xrightarrow{Q(0, 2r, 0)} (0, 0))$

*7

forms a Hamiltonian cycle for GHT(m, 2k, k). See Fig. 2(b) for illustration.

The theorem is proved. \Box

By Theorems 1 and 2, any honeycomb hexagonal torus HT(n) is Hamiltonian.

5. Discussion

In this paper, we introduced the generalized honeycomb tori. The generalized honeycomb tori include honeycomb rectangular tori, honeycomb rhombic tori, and honeycomb hexagonal tori. We also discussed the Hamiltonian properties of some generalized honeycomb tori. We believe that all generalized honeycomb tori are Hamiltonian.

Acknowledgements

The authors are very grateful to the anonymous referees for their thorough review of the paper and concrete and helpful suggestions.

References

- J.A. Bondy, U.S.R. Murty, Graph Theory with Applications, North-Holland, New York, 1980.
- [2] J. Carle, J.-F. Myoupo, D. Seme, All-to-all broadcasting algorithms on honeycomb networks and applications, Parallel Process. Lett. 9 (1999) 539–550.
- [3] M.S. Chen, K.G. Shin, D.D. Kandlur, Addressing, routing, and broadcasting in hexagonal mesh multiprocessors, IEEE Trans. Comput. 39 (1990) 10–18.
- [4] F.T. Leighton, Introduction to Parallel Algorithms and Architectures: Arrays · Trees · Hypercubes, Morgan Kaufmann, San Mateo, CA, 1992.
- [5] G.M. Megson, X. Yang, X. Liu, Honeycomb tori are Hamiltonian, Inform. Process. Lett. 72 (1999) 99–103.
- [6] G.M. Megson, X. Liu, X. Yang, Fault-tolerant ring embedding in a honeycomb torus with nodes failures, Parallel Process. Lett. 9 (1999) 551–561.
- [7] B. Parhami, D.M. Kwai, A unified formulation of honeycomb and diamond networks, IEEE Trans. Parallel Distributed Systems 12 (2001) 74–80.
- [8] I. Stojmenovic, Honeycomb networks: Topological properties and communication Algorithms, IEEE Trans. Parallel Distributed Systems 8 (1997) 1036–1042.
- [9] H.Y. Youn, J.Y. Lee, An efficient dictionary machine using hexagonal processor arrays, IEEE Trans. Parallel Distributed Systems 7 (1996) 166–273.